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Exercise 2
Choose the one answer that best completes the sentence.

i

Most universities only people entering the freshman class

(A) will be accepted
(B) accept

(C) although it accepts
(D) accepting

After the examinees
(A) hearing the bell
(B) heard the bell
(C) to have been heard the bell
(D) to hear the bell

they had to stop doing the test.

The government __the debate which is held every year.
(A) sponsors

(B) sponsor

(C) have sponsored

(D) sponsoring

If the superintendent does not ___ his mind, there is nothing more to be done.
(A) changes
(B) have changed
(C) change
(D) to change

The local government the permission to build the roads.
(A) it will be granted
(B) granted
(C) was being granted
(D) have been granted

The pilots the most direct route to save fuel.
() although choosing
(B) when they chose
(C) was to choose
(D) chose

The song had amelodythat __________like this.
(A) was gone

(B) went

(C)istogo

(D) had went

One's success cannot always
(A) be measured

(B) being measured

(C) to measure

(D) measure

in terms of money.
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